PHYSICS 100 
PROJECTILE MOTION

Projectile motion is two-dimensional motion.  The horizontal motion is called the x-motion.   Neglecting air resistance, the acceleration in the x-direction is zero.  Thus, the final horizontal velocity is equal to the initial horizontal velocity.
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The horizontal distance traveled by the projectile is equal to its constant initial horizontal velocity times its flight time.
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For the special case when a projectile is launched HORIZONTALLY, the initial vertical velocity is zero and the flight time can be calculated from:
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where y is the height above the ground.

The vertical or y-motion has a constant vertical acceleration due to gravity, g, of 9.8m/s
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 downward.  The vertical distance traveled downward for the special case of a horizontal launch is:
      (4)      d = y = (g/2) t
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